Assignment. Hand in Sept 20 unless Ivan closes school.

1. You know that if X is a Gaussian random variable, N((,(), then [X-(]/( is N(0,1). Is it true for any distribution that [X-(]/( has mean zero and standard deviation unity? If so, prove it.

2. If X and Y are joint Gaussian random variables with (x = 1, (x =2, (y = -1, (​y = 1, and ( = .5; and if you measure X and get X = 3, then what is the probability that –2 < Y < 2?

3. Flip a coin: X = 1 if you get heads, X=2 if you get tails. If you average the outcome of 1,000,000 flips, what is the probability that 1.4 < X < 1.6? Use the Central Limit Theorem.

